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B NERD 7MY —HODOFUEI~4T—)VEDICDINT

INRRD 71— IWNBBI 71—
No. HERE E30-) E40—)1
FE8L [SIESY FEEN =
e 5t 1.665| 166,500 1,665| 166,500
1 | #LiRrd 605} 60,500 661| 66,100
2| =g 66 6,600 78 7,800
3| Nu8m 24 2,400 33 3,300
BJIINZN—=" QBlIITHEICER UEcD)
4| neJIira o9 9,900 114 11,400
87 | FERET 3 300 2 200
90| LLinHT 3 300 O 0
5|=@mh 24 2,400 23 2,300
6| #IE8™H 45 4,500 58 5,800
=N 45 4,500 69 6,900
8|dkEm 36 3,600 39 3,200
o| peEih _ _ 3 300 0 ©
SRR - BEJIL—-J (E8RMICE#H Lis)
10|8RRMH 24 2,400 24 2,400
79| AR 1 100 0 0
11 38ED 12 1,200 11 1,100
12| 88mh 5 500 8 600
13| &V 54 5400 T2 7,200
14 | A 11 1,100 12 1,200
15[Z18% _ 3 300 6 600
WRETI—T GRERICERN LED)
16| BRI 3 300 2 200
18| R¥Em 3 300 ) )
27 | IR AT O 0 0 0
S1RI « FE2TIV—7 CIRIHICERN UELD)
17 [3TRIT 39 3,900 45 4,500
37 | FEEN 2 200 0 0
191§ AIH 6 600 B 600
20|FRlf 5 500 5 500
BF « ZRTIL—T (BFHICERLED)
21|25 h 9 900 9 200
102| &30 2 200 0 0
22|=%Hh 3 300 0 0
23 |1R=E|m 6 &S00 9 800
24 | Fimmd 36 3,600 42 4,200
25 EIH _ 12| 1,200 12| 1200
BIZIL—2 GYIHEICER LitD)
26 |l 5 500 3 300
75| L8 E] 1 100 0 0
8O3 1 100 O 0
81 (3218 _ 3 300 0 0
FENTIV—T CRIITBICERNUED)
28[F)Ih 9 900 4 400
82 &L 1 100 0 0
S3|BEALBIET 1 100 0 0
84 | =] 1 100 O 0
85|1t=H 0 0] 0 0
86,30 1 100 0 0
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INREZD 7 1 T —

MBRT 71—

No. N E30—) B4
FEEY (3 FaR EE
hmE st 1,665| 166,500| 1,665| 166,500
EREUI—T (SESHLERUERD)
20| =R%n | 6 600 8 800
o6 | =R 1 100 3 300
o7 | EER%H 1 100 0 0
o8| 5B 0 0 0 0
30| =5lm 15| 1,500 131,300
31|EED _ 24| 2,400 30| 3,000
B - B )— (Pemicim Uin)
32[F=m 1]~ 1,700 0] 1,000
138 [y ey 1 100 0 0
33[dbAET 18] 1,800 21| 2,100
34|ExT 21| 2,100 24| 2400
S EE 12| 1,200 21| 2,100
36| LBIE 3 300 4 400
38| FARIE 2 200 o 0
30(Ea 1 100 0 0
40| Z0AE 2 200 0 0
41 | A EHE 1 100 0 0
42| GERE 9 900 12| 1,200
43| EaE 2 200 0 0
44|78 3 300 6 600
45|/ \=8 4 400 6 600
46| &= 58] 3 300 0 0
47[IEe 4 400 0 0
48[ £ /= 2 200 0 0
45 | =R EE 2 200 0 0
50z 388y 1 100 e o
51 |EmRES 1 100 0 0
52248 3 300 0 0
53| ERET 4 400 0 0
54| S8 0 0 0 0
55| &8 1 100 0 0
56 | = HAET 2 200 0 0
57 | piEE 3 300 0 0
58| =t 3 300 1 100
50| &5 1 100 0 0
60| BEEH 1 100 0 0
61| =mRIE 0 0 0 o
62| =@l 5 200 0 0
63| [EHIZE 6 600 6 600
64| H708] _ _ 3 300 0 0
BRTI—T (BN R UBD)
65| BRE 4 400 3 300
67 | BEAN 0 0 0 0
66 iER ” 0 0 o) 0
R TIL—T GRIBHICERN UAES)

68T 1 100 0 0
69| &8 1 100 0 0
70| 2 200 0 0
71| Sh8 111,100 0 0
72| 0 0 0 0
73 Fa e 7 400 0 0
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INBR D P11 — INRRZD 71—
No. AT H3IT-N E49—-)1
VIS EE= a8 O#
jtimE & 1,665 166,500| 1,665 166,500
T4 | =FTH 3 300 0 0
T6|HB{CH 3 300 0 0O
77 RB 3 300 3 300
T8|EWLH 3 300 3 300
B8 | FERHT 4 400 6 600
89| SR 1 100 3 300
S1 | ERIH 1 100 0 8]
o2 L)IH 1 100 Q 0
=] EN: 4 400 3 300
O4 | EmEE] 3 300 3 300
o5 LERHH 4 400 3 300
SO |F0EEH 2 200 O )
100 | &l BF 1 100 0] O
101 | ®JIIET 1 100 0 0
103 | SEF N 0 0 0 Q
104 |50 1]H] 0 0 0 0
1085 | #=0AH] 0 0 0 0
106 |18FM 2 200 0 0
107 1IN\ EE] 1 100 0O O
108| Sguly 1 100 0 0O
109 | 33081 3 300 0O 0)
110|#0WBIH 0 0 0 0
111 &ERIET 1 100 0O 8
112|RIEH 1 100 0l O
113 R 2 200 0 0
114 | E5RIE] 1 100 0 0
115| P igRIE] 0 0 0 0
116|550 3 300 2 200
117|188 2 200 0 0
118|3L3CH] 1 100 0 0O
119 | RIARBT 1 100 0 O
120|FAE1H 1 100 0 0
121 | 1RIES] 1 100 0 0
122 | ERE] 6 600 6 600
1232518 2 200 8] 0
124 (FIEEH 3 300 5 500
125(/EEd 3 300 0 Q
126/ KET 3 300 0 0
127 |38 3 300 1 100
128 | &EFH 1 100 0 0]
RETIV—T CEEHICEN LESH)

129 | SR 2 200 1 100
130|=E261 6 600 6 600
131 [FERIET 2 200 2 200
132|E L/ 1 100 @) 0
133 | ELERET 3 300 0 0]
134 | FE SR O 0 0 0
135 | FEEVET 3 300 8] 0
136 | <Z=4] 3 300 2 200
137 [ &8 3 300 ) 0
139{8&H 3 300 4 400
140|E&EH] 3 300 1 100
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No. —. B30 EAD—)L
i EE 0 B
time Et 1,665| 166,500 1,665| 166,500
141 |Eanme 3 300 7 100
142| Zay 3 300 1 100
143[Eh 08 3 300 1 100
144 B5a 3 300 4 400
145 |EE 3 300 1 100
146 | 3imey 3 300 1 100
147 [Esaey 4 400 3 300
148 LIET 2 200 0 0
1492 DB 3 300 1 100
150[ SO E — 6 600 9 900
SR U— (BEWEWUERD)
151|528 13| 1.300 21| 2100
152| iREr 2 200 2 200
153[ ELigE 3 300 1 100
154 | EaE 3 300 1 100
155 |2 3 300 0 0
156 KA 3 300 3 300
157 | =8 6 600 o 900
158 | oA 3 300 0 0
150 | =l 2 200 0 0
160 A HET 3 300 0 0
161 |28 3 300 1 100
162 | =818 121,200 9 500
163 [3thAET 3 300 0 0
164 | StEe 1 100 0 0
165 | 2RI 3 300 1 100
166|258 3 300 1 100
167 | ERIET 1 100 0 0
1 68| 3 300 0 0
169 | SliEBer 6 600 6 600
1 70| ==E 3 300 3 300
171 [EchE 3 300 0 0
AEET 3 300 2 200
17327 3 300 0 0
174 | et 1 100 0 0
175| %28 3 300 1 100
176|BLEE 6 600 6 600
177 |hE2E S 500 S 900
178[f=2E 3 300 0 0
179 FEEIE 3 300 0 0
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